SPIETH ANDERSON / SPIETH AMERICA

		SPIETH ANDERSON / SPIETH AMERICA	Est	Spieth Anderson / dba Speith		Total Ext.	
Item #	Industry Description	Complete Description	Qty.	America		Price	
1	OCTAGON TUMBLER	Octagon - 30" x 36", Blue and Light Blue	1	\$	364.50	\$	364.50
2	OCTAGON TUMBLER	Octagon - 25" x 36", Blue and Red	2	\$	319.50	\$	639.00
3	OCTAGON TUMBLER	Octagon - 15" x 24", Blue and Yellow	2	\$	158.40	\$	316.80
4	HANDSPRING TRAINER	36" Handspring Trainer, Royal Blue/Orange.	2	\$	534.60	\$	1,069.20
5	INCLINE	36" W x 72" L x 16" H, Blue/Orange	3	\$	395.10	\$	1,185.30
6	FOLDING INCLINE	Foldable Incline 60" W x 120" L x 22" H and easily folds to 60" W x 60" L x 24" H.	3	\$	1,089.00	\$	3,267.00
7	INCLINE	Incline 48" W x 72" L x 16" H, Blue/Red	3	\$	395.10	\$	1,185.30
8	INCLINE	Incline - 24" W x 48" L x 14" H	4	\$	208.80	\$	835.20
9	VELCRO PANEL MAT	Velcro Panel Mat - (Rainbow color only) 6' x 12' x 1 1/4"	8 \$		408.60	\$	3,268.80
10	VELCRO PANEL MAT	Velcro Panel Mat- (Rainbow color only) 5' x 10' x 2",	8	\$	416.70	\$	3,333.60
11	VELCRO PANEL MAT	Velcro Panel Mat- (Rainbow color only) 4' x 6' x 1 1/4"	10	\$	174.60	\$	1,746.00
12	PARACHUTE	PARACHUTE 24 DIAMETER US (Spieth America Item # CP-4 or Approved Equal)	2	\$	136.80	\$	273.60
13	PARACHUTE	PARACHUTE 20 DIAMETER US (Speith America Item # CP-3 or Approved Equal)	2	\$	100.80	\$	201.60
14	MULTI-PURPOSE MAT	Multi- Purpose Mat - 38" W x 55" L x 3/4" H (Brand: Simone Biles, or Approved Equal)	2	\$	250.20	\$	500.40
15	SOFT IMPACT MAT	4'X6'X6"	1	\$	270.00	\$	270.00
16	SOFT TOP PIT MODULE	5'X10'X24"	1	\$	1,417.50	\$	1,417.50
17	GYMN.PIT MOD.	Gym Pit Module 5' x 10' x 32" No Velcro	1	\$	1,661.40	\$	1,661.40
18	STING MAT	2m x 3m x 5 cm	2 \$ 485.10		485.10	\$	970.20
19	STING MAT	1m x 2m x 5cm, Non-Fold	2 \$ 229.50		\$	459.00	
20	THROW MAT	4.5' x 8' x 4", Non-Fold	2 \$ 287.10		287.10	\$	574.20
21	TRAINING MAT	5' x 10' x 8", Non-Fold	8 \$ 591.30		591.30	\$	4,730.40
22	AIR TRACK	33' X 6-1/2' X 8" (10m X 2m X 20 cm) Flat Track	2	2 \$ 2,721.60		\$	5,443.20

		IABULATION SHEET			Snioth		
				Spieth Anderson /			
			Est	dba Speith		Total Ext.	
Item #	Industry Description	Complete Description	Qty.	_		America Price	
		MINI AIR BLOWER FOR AIR TRACKS (rapid inflation and					
		deflation at 250 mBar maximum pressure with maximum flow-					
00	MINI AIR BLOWER FOR	rate of 2000 l/min; weighs 3.75 lbs). Must be compatiable to					
23	AIR TRACKS	work for Item # 22 AIR TRACK.	3	\$	99.00	\$	297.00
		3 Steps Foam Steps					
24	FOAM STEPS	21" W x 33" L x 24" H Blue & Yellow.	3	\$	324.90	\$	974.70
			_				
25	MAILBOX	16" W x 36" L x 20" H. Red and Blue.	2	\$	180.90	\$	361.80
		Donut Stuffer and Halves - 18" x 52" Diameter, 18" x 30" D,					
26	DONUT STUFFER	Blue/Light Blue/Red	1	\$	760.50	\$	760.50
		36" W (at the base) x 48" L x 48" H (6 total pieces, that split into 3 sections attach togther with velcro) Royal Blue and					
27	TRI-TOP TRAPEZOID	Red.	2	\$	1,285.20	\$	2,570.40
	1141101 1144 22015	1.00.	_	Ψ	1,200.20	Ψ	2,010.10
28	SOFT IMPACT MAT	6' x 8' x 12" (Handles on each side)	2	\$	695.70	\$	1,391.40
20	JOI I IIVII AOT IVIAT	(Haridies off each side)		φ	093.70	φ	1,391.40
29	SOFT IMPACT MAT	5' v 6' v 9" (Handles on each side)	2	φ.	274.40	ф.	740.00
29	SOFT IIVIPACT IVIAT	5' x 6' x 8" (Handles on each side)	2	\$	374.40	\$	748.80
00	DED MULTIPLOOK	3 - 24" W x 16" L x 8" H blocks		_	224.22		221.22
30	RED MULTI-BLOCK	2 - 24" W x 24" L x 8" H blocks	1	\$	621.90	\$	621.90
		Divider Doors 60" x 28" x 6 " (Speith Item # CWD-2 or	_				
31	DIVIDER WALL DOORs	Approved Equal) Color : Blue	2	\$	234.90	\$	469.80
		Divider Wall 60" x 28" x 6 " (Speith Item # CWD-1 or					
32	DIVIDER WALL	Approved Equal) Color : Blue	8	\$	207.90	\$	1,663.20
		2' W x 4' L x 10cm H					
33	AIRMAT BOARD RED	(Spieth Item # S1740501 or Approved Equal)	2	\$	279.00	\$	558.00
34	FINISHED CLIMBING ROPE	Finish Climbing Rope 6m (19.7 ft)	1	\$	101.70	\$	101.70
		The Junior Zoid (3 sections), Blue, Yellow & Red.					
35	JUNIOR ZOID -3 SECTION	30" W (at the base) x 36" L x 36"	1	\$	721.80	\$	721.80
36	SPOTTING BLOCK	20" W x 60" L x 24" H, Blue	2	\$	469.80	\$	939.60
		Double Wall Bar (Speith Item #5106-100 or Approved Equal)					
37	DOUBLE WALL BAR	Bars are 9 ft. high, made of solid wood and come with 17 detachable wall bars.	1	\$	594.90	\$	594.90
- 37	DOODLE WALL DAN	detachable wall bars.	'	φ	394.90	Ψ	394.90
38	LINEV/ENLDADO	All American uneven bars 6- Axis Cables	1	φ.	4 4 2 2 7 0	r.	4 422 70
30	UNEVEN BARS		I.	\$	4,133.70	\$	4,133.70
00		All American spotting platform (compatable to used for un-		_	4 45 4 70		4 45 4 70
39	PLATFORM	even bars)	1	\$	1,154.70	\$	1,154.70
46	LANDING	7.5 40 40 + March	_				
40	LANDING MAT	7.5 x 12 x 12 cm * Must be custom fit	7	\$	1,156.50	\$	8,095.50
		Complete Landing Mat Set for the Freestanding Uneven Bars					
		(Speith Item # 5200-100 or Approved Equal)					
	EDEESTANDING DAD MAT	Set includes: 2 - 2m (78 3/4") x 2m (78 3/4") mats					
41	SYSTEM	2 - 2m (78 3/4) x 2m (78 3/4) mats 11 - 2.25m (88 1/2") x185cm (33 1/2") center frame mat	1	\$	1,875.60	\$	1,875.60
<u> </u>	3.3.2.2.	1 / CO / COOM (CO / COMO Hamo mar	l	Ψ	1,010.00	Ψ	1,010.00

		TABULATION SHEET		_			
					Spieth		
				Anderson /		_	
	Industry Description	Complete Description	Est	dba Speith		-	
Item #	Industry Description	Complete Description	Qty.	,	America		Price
40	FREESTANDING UNEVEN	Freestanding uneven Bars (Speith Item # 5200-100 or Approved Equal) Set includes: 2 - 2m (78 3/4") x 2m (78 3/4") mats	4		5 070 00		5 070 00
42	BARS	1 - 2.25m (88 1/2") x185cm (33 1/2") center frame mat	1	\$	5,676.30	\$	5,676.30
43	METHODICAL HORIZONTAL BAR	Methodical Horizontal Training Bar (Spieth Item #5177 or Approved Equal)	1	\$	1,572.30	\$	1,572.30
44	TRAINER PLATFORM LADDER	Trainer Platform - Movable Ladder (Spieth Item #1490373 or Approved Equal)	1	\$	1,415.70	\$	1,415.70
45	LANDING MAT	Competition Landing Mat - 8' x 15.5' x 12cm - Velcro Ends Only (VAULT AREA)	2	\$	1,329.30	\$	2,658.60
46	FIBREGLASS RAIL FOR FREESTANDING	WOMENS CARBOFLEX RAIL FOR METHODICAL HORIZONTAL BAR	2	\$	384.30	\$	768.60
47	SOFT MAT	400 x 200 x 10 cm Color : Blue	1	\$	789.30	\$	789.30
48	PORTABLE PIROUETTE BAR	38 3/8" L x 9 5/8" H	1	\$	149.40	\$	149.40
49	HANDSTAND REBOUNDER SINGLE	Handstand Rebounder Single (Speith , Item #398 or Approved Equal)	1	\$	1,441.80	\$	1,441.80
50	CHALK BOWL WITH STAND	Chalk Bowl with cover and folding stand allow for unit to be stored easily if needed. 16" W x 16" L x 36" H	2	\$	219.60	\$	439.20
51	JUNIOR TRAINING BAR	Junior Training Bar (36" to 51" high, in 3" increments) Maximum weight limit is 150 lbs.	1	\$	470.70	\$	470.70
52	SOFT TOP AND BOTTOM MAT	Our Jr. Swing Bar Mat is constructed of 18oz. vinyl and prime polyurethane foam. 4' x 8' x 10cm	1	\$	248.40	\$	248.40
53	HIP KIP TRAINER	Hip Kip Trainer (Speith, Item # 5106-000 or Approved Equal)	1	\$	129.60	\$	129.60
54	LEG BASE PAD	Leg Base Padding- Steel Parallel Bars , Each pad (13" W x 33" L x $3/4$ " H) Sold in pairs	2	\$	193.50	\$	387.00
55	FLOOR PARALLEL BAR TRAINER	Floor Bar Trainer 12" Parallel Bar Trainer.	1	\$	272.70	\$	272.70
56	TRAINING MAT	7' x 10' x 8", Non-Fold	1	\$	805.50	\$	805.50
57	ANTI-SKID BOTTOM TRAINING MAT	5' x 10' x 8'	4	\$	603.00	\$	2,412.00
58	ANTI-SKID BOTTOM THROW MAT	5' x 10' x 4"	2	\$	423.90	\$	847.80
59	TAPERED END TRAINING MAT	Tapered End Training Mat 5' x 10' x 8" Taper starts at 8" and goes Landing area is 5' x 10' x 8" down to 1" over 15". Landing area is 5' x 10' x 8"	2	\$	594.00	\$	1,188.00
	PERFORMANCE SERIES	The Performance Series Competition Crank Beam Designed to FIG, USAG, NCAA, NFHS, and AAU dimensional specs.	-				
60	COMPETITION CRANK	4" W x 16' L	2	\$	2,731.50	\$	5,463.00
61	LANDING MAT	Landing Mat (7.5' x 15.5' x 12cm - Velcro 4 Sides, Folding) Landing Mat for the crank beam	4	\$	1,603.80	\$	6,415.20

		TABULATION SHEET			Spieth		
				Anderson /			
			Est	dba Speith		Т	otal Ext.
Item #	Industry Description	Complete Description	Qty. America		America		Price
62	LANDING MAT	Landing Mat (7.5 x 12 x 12 cm) Custom mat for Beam	4	\$	1,156.50	\$	4,626.00
63	VELCRO FLAP	Velcro Flap 15.5' Long x 10" Wide	2	\$	69.30	\$	138.60
64	BEAM LEG UPRIGHT PADS	For Performance Series Balance Beams (#5121-100, #5121-120 and #5121-335 or Approved Equal). *** Protective padding specifically designed for Crank Beam***	2	\$	334.80	\$	669.60
65	BEAM LEG BASE PAD	BEAM LEG BASE PAD (PR) 12CM 7.5' x 11" x 12cm. Sold in pairs. ** Made for crank beam***	2	\$	441.90	\$	883.80
66	LOW TRAINING BEAM TOP ONLY	16' Competition Low Profile Training Beam 4" W x 16' L x 13" H. Non-adjustable legs. (Speith American Item # 5121-340 or Approved Equal)	1	\$	1,088.10	\$	1,088.10
67	LOW BEAM LEGS	Low Training Beam Legs for (Speith America Item # 118A and 5121-340 or Approved Equal) 21.5" W x 10" H , Non-adjustable	1	\$	147.60	\$	147.60
68	STEEL LOW TRAINING BEAM	Steel professional 4" W x 12' L x 13" H. Non-adjustable legs.	1	\$	569.70	\$	569.70
69	BEAM TRAINING PAD	The wrap around Beam Training Pad provides a softer surface to extend training sessions. It secures around the beam with	2	\$	188.10	\$	376.20
70	BEAM SURFACE EXPANDER WASHABLE COVER	Beam Surface Expander, but with a washable cover (8" W x 2.5m (8'3") L)	2	\$	425.70	\$	851.40
71	FOAM LEARNING BEAM	(FOAM LEARNING BEAM (2017) 9.5" W x 100" L x 3.1" H; top width of beam is 6"	3	\$	249.30	\$	747.90
72	AIR BEAM	15 3/4" (40cm) W x 16'5" (500cm) L x 4" (10cm) H	2	\$	357.30	\$	714.60
73	FULL-SIZE MOUNTING BLOCK	24" W x 48" L x 9" H	1	\$	241.20	\$	241.20
74	LANDING MAT	Competition Landing Mat - 8' x 4' x 12cm - Velcro Ends Only, Non-Folding	1	\$	500.40	\$	500.40
75	SPRINGBOARD KREON	The Hard Springboard by *SPIETH Germany is standard size, 120cm (47 1/4") x 60cm (23 2/3"), Spieth Brand or Approved Equal.	1	\$	935.10	\$	935.10
76	SPRINGBOARD IRIS 'SILVER' 5 SPRINGS	The Soft Springboard by *SPIETH or Approved Equal, 120cm (47 1/4") x 60cm (23 2/3")	2	\$	866.70	\$	1,733.40
77	COMPETITION ACCELERATOR BOARD	Strategic configuration for seven interchangeable coil springs. Four blue (hard) and three red (soft) provide a positive return	rings.		648.90	\$	1,297.80
78	LITTLE THUMPER BOARD	Recommended weight limit is 50 lbs.	1 \$ 195.30		\$	195.30	
79	JUNIOR ACCELERATOR BOARD	The springs should be easy to insert and remove if adjustments are needed for each gymnast.	2	\$	456.30	\$	912.60
80	BLUE VAULT RUNWAY	3'X84'X1-3/8" NON-FLEXI	1	\$	624.60	\$	624.60

		IABULATION SHEET					
Item #	Industry Description	Complete Description	Est Qty.	Spieth Anderson / dba Speith America		Total Ext. Price	
81	NON-FOLD VAULT SAFETY ZONE	Constructed of an 8" combination of polyethylene and polyurethane foams for added strength and durability and	2	\$ 396.00	\$	792.00	
82	PERFORMANCE SERIES ROUND-OFF ENTRY PAD	39 3/8" W x 47 1/4" L x 1" H	1	\$ 207.00	\$	207.00	
83	FOAM VAULT TABLE TRAINER	FOAM VAULT TABLE TRAINER (4 SECTIONS) Rainbow Color	1	\$ 1,948.50	\$	1,948.50	
84	LANDING MAT	Competition Landing Mat -425 8' x 15.5' x 20cm - Velcro Ends Only, Folding	1	\$ 2,223.90	\$	2,223.90	
85	LANDING MAT	Competition Landing Mat - 8' x 4' x 20cm - Velcro Ends Only, Folding	1	\$ 601.20	\$	601.20	
86	VAULT MAT SYSTEM	This 4-piece system includes two base mats (5' W x 10' L x 16" H, each) and two additional mats, providing 16", 32", 40",	1	\$ 3,614.40	\$	3,614.40	
87	TRAMP BOARD	Mini, adjustable trampoline with a total top trampoline surface of 24" W x 36" H. Wheels on the frame allow for easy transport	2	\$ 924.30	\$	1,848.60	
88	SPRING - HARD BOARD	3" Individual Coil Spring for Springboards, Blue	4 \$ 27.00		\$	108.00	
89	SPRING - SOFT BOARD	3" Individual Coil Spring for Springboards , Red	4	\$ 19.80	\$	79.20	
90	TRAINING OBSTACLE COURSE	Training Obstacle Course includes the following products: 1 set of Stepping Stones 4 - Pillars 1 - Balancing Log 1 - Bench 2 - Blocks 1 - Barrier 4 - Slanted Steps	1 \$ 3,092.40		\$	3,092.40	
91	SMALL STEP-IN BELT	Small Step-In belt fits gymnasts with 18"-28" waists. (pad length is 22.5"" and width is 6.5")	2	\$ 81.00	\$	162.00	
		(Spieth America Item # 1790752 or Approved Equal) INCLUDES: FULL FLOOR, COMPETITION CARPET AND INCLINES					
92	MOSCOW FLOOR	13x13m (42'8" x 42'8") FIG Certified, ORIGINAL REUTHER Large Step-In Tumbling Belt fits gymnasts with 24"-36" waists.	1	\$ 39,358.80	\$	39,358.80	
93	LARGE STEP-IN BELT	For gymnasts with 18"-28" waists, Norberts Item # G-010SS or	2	\$81.00		162.00	
94	CARTWHEEL BLOCK	The block is 18" x 36" x 5" and comes with two dots for hand placement, Norberts Item # SC-3618 or Approved Equal.	3	3 \$54.00		162.00	
95	DELUXE 2 STEP	Deluxe 2 Step measures 24"W x 33L" x 14"H. 95 ILD polyfoam base is topped with layer of firm 1.25" polyethylene for additional support and a much longer life. Covers are fabricated of brightly-colored 18 oz. vinyl-coated polyester. Norberts Item # GF-842D or Approved Equal.	2	2 \$135.00		270.00	
96	DELUX GRAND CANYON BAR BLOCK SET	All Grand Canyon Bar blocks are 34" wide and 52" wide. Three heights (12", 24" and 48") are available. Deluxe set	1 \$ 6,075.00		\$	6,075.00	
97	STRAIGHT ARROWS	Use these colorful rubberized vinyl shapes Multicolored set of 6.	6 \$ 24.30		\$	145.80	

		IABULATION SHEET			Decl = 41:		
					Spieth		
			Est		derson /	Total Ext.	
14 a ma #	Industry Description	Complete Description	⊑sι Qty.	dba Speith America		Price	
Item #	mudatry Description	Complete Description	Qty.	A	ilicilca		TILE
		6 colorful rubberized vinyl shapes					
98	TURN ARROWS	Multicolored set of 6.	6	\$	24.30	\$	145.80
		*This 6 piece set consists of one each red, blue, purple,					
	SQUEAKER STEPPING	orange, green and yellow 13" diameter 2" tall stepping stones.					
99	STONES	Each one measures approximately 2"H and 13" dia.	3	\$	108.00	\$	324.00
		Set of 3 traffic directing poly vinyl shapes.					
		A bright yellow SLOW diamond, a red Octagon shaped STOP					
100	STOP, SLOW, GO	sign and a green circular GO.	5	\$	16.20	\$	81.00
		Set of ten 9" diameter round molded blue vinyl spots with					
101	FITNESS SPOTS	bright yellow figures.	5	\$	42.30	\$	211.50
		Use these colorful rubberized vinyl shapes					
		Set of six 9" stars includes one of each color: blue, brown, red,					
100	DAINDOW STARS	yellow, green & light blue. Select thislink to ses a short video	6	d.	22.40	•	4.40.40
102	RAINBOW STARS	of a class using Rainbow Stars.	6	\$	23.40	\$	140.40
		Use these colorful rubberized vinyl shapes Our 10" diam. Hop Spots come in 1 dozen (Sets of 12). All are					
103	HOP SPOTS	yellow with red design.	5	\$	49.50	\$	247.50
		,		Ť		Ψ	211.00
104	POLY PAD	Poly Pad "Trapezoid Topper", 20" x 36"	2	\$	76.50	\$	153.00
104	POLIFAD			Ф	76.50	Ф	153.00
40-		Line Up Mat, 15" x 144" (Norberts Item # LUM-101 or				_	
105	LINE UP MAT	Approved Equal) Mat has numbers 1-12	1	\$	97.20	\$	97.20
	BEGINNING CARTWHEEL	Beginning Cartwheel Mat , (Norberts Item # BC-101 or					
106	MAT	Approved Equal)	1	\$	106.20	\$	106.20
		Strong Body Walk Mat , (Norberts Item # SBW-102 or					
107	STRONG BODY WALK MAT	Approved Equal)	1	\$	164.70	\$	164.70
		Speed Bumps Set of 6 , Rainbow colors (Norberts Item #GF-					
108	SPEED BUMPS	888 or Approved Equal)	4	\$	62.10	\$	248.40
		piece form fitted system fits overthe vault base with ease.					
		4'x8' surface for the spotter.					
109	VAULT ANCHOR MAT	Mat is constructed with a foam filler consisting of prime	1	\$	558.00	\$	558.00
		Use these colorful rubberized vinyl shapes as the basis for					
		games that focus players' concentration, encourage					
		persistence and hone directional orientation and					
		symbol/shape/number/color recognition skills. Tough, non-toxic pads aren't painted or coated; colors are permanently set					
		during the molding process.					
		Our 9" Number sets are sold with number 0 to 9 in your					
110	NUMBERS 0-9 SET OF 10	COLOR RED	5	\$	36.00	\$	180.00
111						\$	-
		Bright fluorescent orange polyethylene cones have dozens of					
		uses from obstacle courses to relay goals. Three other sizes					
112	CONES 12" SET OF 12	are also available. Sold in sets of 12.	10	\$	30.60	\$	306.00
		This traditional cotton jump rope has wooden handles and is 8'					
113	JUMP ROPE COTTON	long.	10	\$	5.85	\$	58.50
		DGS Gymnastic (Item # V26 or Approved Equal) **These bar				-	
		straps are to be used only on men's high bar. These may not					
114	LEATHER BAR STRAPS	be used on women's rails.**	4	\$	53.96	\$	215.84

		TABOLATION SILLET		Spieth Anderson /			
Item #	Industry Description	Complete Description	Est Qty.	dba Speith America		Total Ext. Price	
115	BAR STRAPS	BAR STRAPS FOR HIGH BAR TRAINING (8 SETS PER ORDER)	3	\$	57.60	\$	172.80
116	24" VICHI DOLL	24" tall durable plastic 16-segmented VICI (Virtual Image Coaching Implement) Red color.	2	\$	21.60	\$	43.20
117	MINI BAR RING SET	Consists of two 2" webbing straps, a pair of 6" diameter solid wood round hand rings and connection hardware. Connection points are shrouded to restrict user access. Rings are smaller than traditional official wooden rings so they comfortably fit young user's hands. Straps are approximately 24" long.	,		94.50	\$	189.00
118	RUNWAY TAPE	Inch gradations. 82' long, 1-1/2" wide. with Hook Fastener.	2	\$	112.50	\$	225.00
119	MINI BAR AND MINI BAR COMBO MAT	This includes both Mini Bar and Mini Bar Mat combination. Norberts Item # GF-866 or Approved Equal.	1	\$	494.10	\$	494.10
120	GYMNASTIC CHALK	Top-quality Taiwanese gymnastic chalk is preferred by gymnasts, weightlifters and climbers. 8 two oz. cubes per pound; 36 one pound boxes per case.	2	\$	234.00	\$	468.00
101	COOTTING CTDADS	"Thick dilang strong with awivel appre for 2 person enetting	0	Φ.	04.50	Φ.	00.00
121	SPOTTING STRAPS	" Thick, 4' long straps with swivel snaps for 2-person spotting. Comprised of 4" Hook fastener sewn to colored vinyl strips;	2	\$	31.50	\$	63.00
122	STICKY BEAM STRIPS	hemmed all around to eliminate raw edges (unlike other	1	\$	135.00	\$	135.00
123	KIP WHEEL	DGS Gymnastic -(Item # DGS-Kipwheel or Approved Equal)	5	\$	130.46	\$	652.30
124	WALL PADDING	4'X6' STANDARD WALL PADDING 4" , Blue	44	\$	171.00	\$	7,524.00
125	Custom 3 Sides Column Padding, C Pad Type	12.5"x20.5"x12.5" , Blue	4	\$	301.50	\$	1,206.00
126	Custom 3-Sides Column Padding Cpad	8.5"x28.5"x8.5" , Blue	1	\$	301.50	\$	301.50
127	Custom 3 Sides Column Padding C pad type	8.5" x19"x8.5" , Blue	1	\$	256.50	\$	256.50
128	Custom 2-Sides Column Padding, L pad type	8.5" x 8.5" , Blue	1	\$	195.30	\$	195.30
129	Custom 4 Sides freestanding column padding, no backing	30"x 26 1/4" , Blue	4	\$	288.00	\$	1,152.00
130	1/2" ROPE	Sturdy 1/2" diameter braided rope has permanently attached Swivel Snap. (MEASURMENT NEEDED) 2 \$ 126.0		126.00	\$	252.00	
131	DOUBLE PULLEY	Norbets Item # G-622 Or Approved Equal. Must be compatable to Item #130	4	\$	84.60	\$	338.40
132	CHALK EATER	Chalk Eater Air Filtration System, Portable ,110 outlet (30"W x 36"L x 31"H)	2	\$	1,705.50	\$	3,411.00
		GRAND TOTAL OF EQUIPMENT :		\$ -	123,500.17	\$	193,720.14

				Spieth Anderson /	
			Est	dba Speith	Total Ext.
Item #	Industry Description	Complete Description	Qty.	America	Price

Note: Bidder made matchemical errors in the extended price for Line 84 and Line 130

which is reflected in the actual total equipment price in this tally.

Grand Total for Equipment	\$ 193,720.14
Labor/ Installation Transport of	\$ 10,680.50
existing Equipment	\$ 10,680.50

Grand Total \$ 215,081.14

Procurement Specallist -Letrice Y Smith

Procurement Specialist -Eduardo Hernandez